

# **Lexington-Fayette Urban County Government**

Lexington, Kentucky Horse Capital of the World

Division of Central Purchasing

Date of Issue: November 24, 2014

# INVITATION TO BID #193-2014 Emergency Medical Supplies

Address:		lain Street, 3 <sup>rd</sup> Floor, Room 338, Lexington, Kentucky 40507	Ime: 2:00 PM
Type of Bid:	Price Conti	ract	
Pre Bid Meeting: Address:	N/A N/A	Pre Bld Time:	N/A
		office of the Division of Central Purchasing, 200 East Main Street, Lexing 4. Bids must be <u>received</u> by the above-mentioned date and time. Mailed I	
		Division of Central Purchasing 200 East Main Street, Room 338 Lexington, KY 40507, (859) 258-3320	
above. Bids that are	e not deliver	nty Government assumes no responsibility for bids that are not addressed to the Division of Central Purchasing by the stated time and dany name and address, bid invitation number, and the name of the bid on	l <b>ate will be rejected.</b> All bids
Blds are to include all :	shipping costs	to the point of delivery located at: 219 E. Third Street, Lexington KY 405	508
Bid Security Required:		es X_No Cashier Check, Certified Check, Bid Bond (Personal checks and con	npany checks will not be acceptable).
Performance Bond Rec	quired:Y	'es <u>X</u> No	
Bld Specific	ations Met _	Check One:  Exceptions to Bld Specifications. Exceptions shall be itemized and attached to bid proposal submitted.	Proposed Delivery:days after acceptance of bid.
		Lexington-Fayette Urban County Government may be using Procurement ments. Will you accept Procurement Cards?	Cards to purchase goods No
Sub	omitted by:	GROGAN'S INC FIRM Name 1016 SOUTH BROADWAY	
Bid must b	ne sianed:	Address LEXINGTON KY 40504  City, State & Zip  Account Man	IA Coll
(original sign	_	Signature of Authorized Company Representative - Title	
		Representative's Name (Typed or printed)  859-977-8378  Area Code - Phone - Extension  Fax #	6666
		+hilla gragans. com  E-Mall Address	

The Affidavit in this bid must be completed before your firm can be considered for award of this contract.

AFFIDAVIT
Comes the Affiant,
1. His/her name is and he/she is the individual submitting the bid or is the authorized representative of GROGAN'S TNC.
authorized representative of 6166 ANS +NC.
the entity submitting the bid (hereinafter referred to as "Bidder")
<ol><li>Bidder will pay all taxes and fees, which are owed to the Lexington-Fayette Urban County Government at the time to bid is submitted, prior to award of the contract and will maintain a "current" status in regard to those taxes and fee during the life of the contract.</li></ol>
<ol> <li>Bidder will obtain a Lexington-Fayette Urban County Government business license, if applicable, prior to award of the contract.</li> </ol>
<ol> <li>Bidder has authorized the Division of Central Purchasing to verify the above-mentioned information with the Division Revenue and to disclose to the Urban County Council that taxes and/or fees are delinquent or that a business license has not been obtained.</li> </ol>
<ol><li>Bidder has not knowingly violated any provision of the campaign finance laws of the Commonwealth of Kentucky with the past five (5) years and the award of a contract to the Bidder will not violate any provision of the campaign finance laws of the Commonwealth.</li></ol>
<ol><li>Bidder has not knowingly violated any provision of Chapter 25 of the Lexington-Fayette Urban County Government Coo of Ordinances, known as "Ethics Act."</li></ol>
7. Bidder acknowledges that "knowlngly" for purposes of this Affidavit means, with respect to conduct or to circumstance described by a statute or ordinance defining an offense, that a person is aware or should have been aware that he conduct is of that nature or that the circumstance exists. Further, Affiant sayeth naught.
COUNTY OF TAYETTE
The foregoing instrument was subscribed, sworn to and acknowledged before me  by

Please refer to Section II. Bid Conditions, Item "U" prior to completing this form.

#### I. GREEN PROCUREMENT

#### A. ENERGY

The Lexington-Fayette Urban County Government is committed to protecting our environment and being fiscally responsible to our citizens.

The Lexington-Fayette Urban County Government mandates the use of Energy Star compliant products if they are available in the marketplace (go to <a href="www.Energystar.gov">www.Energystar.gov</a>). If these products are available, but not submitted in your pricing, your bid will be rejected as <a href="mailto:non-compliant">non-compliant</a>.

ENERGY STAR is a government program that offers businesses and consumers energy-efficient solutions, making it easy to save money while protecting the environment for future generations.

## Key Benefits

These products use 25 to 50% less energy
Reduced energy costs without compromising quality or performance
Reduced air pollution because fewer fossil fuels are burned
Significant return on investment
Extended product life and decreased maintenance

#### **B. GREEN SEAL CERTIFIED PRODUCTS**

The Lexington-Fayette Urban County Government is also committed to using other environmentally friendly products that do not negatively impact our environment. Green Seal is a non-profit organization devoted to environmental standard setting, product certification, and public education.

Go to <u>www.Greenseal.org</u> to find available certified products. These products will have a reduced impact on the environment and on human health. The products to be used must be pre-approved by the LFUCG prior to commencement of any work in any LFUCG facility. If a Green Seal product is not available, the LFUCG must provide a signed walver to use an alternate product. Please provide information on the Green Seal products being used with your bid response.

#### C. GREEN COMMUNITY

The Lexington-Fayette Urban County Government (LFUCG) serves as a principal, along with the University of Kentucky and Fayette County Public Schools, in the Bluegrass Partnership for a Green Community. The Purchasing Team component of the Partnership collaborates on economy of scale purchasing that promotes and enhances environmental initiatives. Specifically, when applicable, each principal is Interested in obtaining best value products and/or services which promote environment initiatives via solicitations and awards from the other principals.

If your company is the successful bidder on this Invitation For Bid, do you agree to extend the same product/service pricing to the other principals of the Bluegrass Partnership for a Green Community (i.e. University of Kentucky and Fayette County Schools) if requested?

Yes	 No	1

#### II. Bid Conditions

- A. No bid may be withdrawn for a period of sixty (60) days after the date and time set for opening.
- B. No bid may be altered after the date and time set for opening. In the case of obvious errors, the Division of Central Purchasing may permit the withdrawal of a bid. The decision as to whether a bid may be withdrawn shall be that of the Division of Central Purchasing.
- C. Acceptance of this proposal shall be enactment of an Ordinance by the Urban County Council.
- D. The bidder agrees that the Urban County Government reserves the right to reject <u>any</u> and <u>all</u> bids for either fiscal or technical reasons, and to award each part of the bid separately or all parts to one vendor.
- E. Minor exceptions may not eliminate the bidder. The decision as to whether any exception is minor shall be entirely that of the head of the requisitioning Department or Division and the Director of the Division of Central Purchasing. The Urban County Government may waive technicalities and informalities where such waiver would best serve the interests of the Urban County Government.
- F. Manufacturer's catalogue numbers, trade names, etc., where shown herein are for descriptive purposes and are to guide the bidder in interpreting the standard of quality, design, and performance desired, and shall not be construed to exclude proposals based on furnishing other types of materials and/or services. However, any substitution or departure proposed by the bidder must be clearly noted and described; otherwise, it will be assumed that the bidder intends to supply items specifically mentioned in this Invitation for Bids.
- G. The Urban County Government may require demonstrations of the materials proposed herein prior to acceptance of this proposal.
- H. Bids must be submitted on this form and must be signed by the bidder or his authorized representative. Unsigned bids will not be considered.
- Bids must be submitted prior to the date and time indicated for opening. Bids submitted after this time will not be considered.
- J. All bids mailed must be marked on the face of the envelope:

### "Bid on #193-2014 Emergency Medical Supplies"

and addressed to:

Division of Central Purchasing 200 East Main Street, Room 338 Lexington, Kentucky 40507

The Lexington-Fayette Urban County Government assumes no responsibility for bids that are not addressed and delivered as indicated above. Bids that are not delivered to the Division of Central Purchasing by the stated time and date will be rejected.

- K. Bidder is requested to show both unit prices and lot prices. In the event of error, the unit price shall prevail.
- L. A certified check or Bid Bond in the amount of XX percent of the bid price must be attached hereto. This check must be made payable to the Lexington-Fayette Urban County Government, and will be returned when the material and/or services specified herein have been delivered in accordance with specifications. In the event of failure to perform within the time period set forth in this bid, it is agreed the certified check may be cashed and the funds retained by the Lexington-Fayette Urban County Government as liquidated damages. Checks of unsuccessful bidders will be returned when the bid has been awarded.
- M. The delivery dates specified by bidder may be a factor in the determination of the successful bidder.
- N. Tabulations of bids received may be mailed to bidders. Bidders requesting tabulations must enclose a stamped, self-addressed envelope with the bid.
- O. The Lexington-Fayette Urban County Government is exempt from Kentucky Sales Tax and Federal Excise Tax on materials purchased from this bid invitation. Materials purchased by the bidder for construction projects are not tax exempt and are the sole responsibility of the bidder.

- P. All material furnished hereunder must be in full compliance with OSHA regulations.
- Q. If more than one bid is offered by one party, or by any person or persons representing a party, all such bids shall be rejected.
- R. Signature on the face of this bid by the Bldder or his authorized representative shall be construed as acceptance of and compliance with all terms and conditions contained herein.
- S. The Entity (regardless of whether construction contractor, non-construction contractor or supplier) agrees to provide equal opportunity in employment for all qualified persons, to prohibit discrimination in employment because of race, color, creed, national origin, sex or age, and to promote equal employment through a positive, continuing program from itself and each of its sub-contracting agents. This program of equal employment opportunity shall apply to every aspect of its employment policies and practices.
- The Kentucky Equal Employment Opportunity Act of 1978 (KRS 45.560-45.640) requires that any county, city, town, school district, water district, hospital district, or other political subdivision of the state shall include in directly or indirectly publicly funded contracts for supplies, materials, services, or equipment hereinafter entered into the following provisions:

During the performance of this contract, the contractor agrees as follows:

- (1) The contractor will not discriminate against any employee or applicant for employment because of race, color, religion, sex, age or national origin;
- (2) The contractor will state in all solicitations or advertisements for employees placed by or on behalf of the contractors that all qualified applicants will receive consideration for employment without regard to race, color, religion, sex, age or national origin;
- (3) The contractor will post notices in conspicuous places, available to employees and applicants for employment, setting forth the provisions of the non-discrimination clauses required by this section; and
- (4) The contractor will send a notice to each labor union or representative of workers with which he has a collective bargaining agreement or other contract or understanding advising the labor union or workers' representative of the contractor's commitments under the nondiscrimination clauses.

#### The Act further provides:

KRS 45.610. Hiring minorities - Information regulred

- (1) For the length of the contract, each contractor shall hire minorities from other sources within the drawing area, should the union with which he has collective bargaining agreements be unwilling to supply sufficient minorities to satisfy the agreed upon goals and timetable.
- (2) Each contractor shall, for the length of the contract, furnish such information as required by KRS 45.560 to KRS 45.640 and by such rules, regulations and orders issued pursuant thereto and will permit access to all books and records pertaining to his employment practices and work sites by the contracting agency and the department for purposes of investigation to ascertain compliance with KRS 45.560 to 45.640 and such rules, regulations and orders issued pursuant thereto.

## KRS 45.620. Action against contractor - Hiring of minority contractor or subcontractor

- (1) If any contractor is found by the department to have engaged in an unlawful practice under this chapter during the course of performing under a contract or subcontract covered under KRS 45.560 to 45.640, the department shall so certify to the contracting agency and such certification shall be binding upon the contracting agency unless it is reversed in the course of judicial review.
- (2) If the contractor is found to have committed an unlawful practice under KRS 45.560 to 45.640, the contracting agency may cancel or terminate the contract, conditioned upon a program for future compliance approved by the contracting agency and the department. The contracting agency may declare such a contractor ineligible to bid on further contracts with that agency until such time as the contractor complies in full with the requirements of KRS 45,560 to 45.640.

(3) The equal employment provisions of KRS 45.560 to 45.640 may be met in part by a contractor by subcontracting to a minority contractor or subcontractor. For the provisions of KRS 45.560 to 45.640, a minority contractor or subcontractor shall mean a business that is owned and controlled by one or more persons disadvantaged by racial or ethnic circumstances.

KRS 45.630 Termination of existing employee not required, when

Any provision of KRS 45.560 to 45.640 notwithstanding, no contractor shall be required to terminate an existing employee upon proof that that employee was employed prior to the date of the contract.

#### KRS 45.640 Minimum skills

Nothing in KRS 45.560 to 45.640 shall require a contractor to hire anyone who fails to demonstrate the minimum skills required to perform a particular job.

It is recommended that all of the provisions above quoted to be included as <u>special conditions</u> in each contract. In the case of a contract exceeding \$250,000, the contractor is required to furnish evidence that his work-force in Kentucky is representative of the available work-force in the area from which he draws employees, or to supply an Affirmative Action plan which will achieve such representation during the life of the contract.

U. Any party, firm or individual submitting a proposal pursuant to this invitation must be in compliance with the requirements of the Lexington-Fayette Urban County Government regarding taxes and fees before they can be considered for award of this invitation and must maintain a "current" status with regard to those taxes and fees throughout the term of the contract. The contractor must be in compliance with Chapter 13 from the Code of Ordinances of the Lexington-Fayette Urban County Government. The contractor must be in compliance with Ordinance 35-2000 pursuant to contractor registration with the Division of Building Inspection. If applicable, said business must have a Fayette County business license.

Pursuant to KRS 45A.343 and KRS 45A.345, the contractor shall

- (1) Reveal any final determination of a violation by the contractor within the previous five year period pursuant to KRS Chapters 136 (corporation and utility taxes), 139 (sales and use taxes), 141 (income taxes), 337 (wages and hours), 338 (occupational safety and health of employees), 341 (unemployment and compensation) and 342 (labor and human rights) that apply to the contractor; and
- (2) Be in continuous compliance with the above-mentioned KRS provisions that apply to the contractor for the duration of the contract.

A contractor's failure to reveal the above or to comply with such provisions for the duration of the contract shall be grounds for cancellation of the contract and disqualification of the contractor from eligibility for future contracts for a period of two (2) years.

V. Vendors who respond to this invitation have the right to file a notice of contention associated with the bid process or to file a notice of appeal of the recommendation made by the Director of Central Purchasing resulting from this invitation.

Notice of contention with the bid process must be filed within 3 business days of the bid/proposal opening by (1) sending a written notice, including sufficient documentation to support contention, to the Director of the Division of Central Purchasing or (2) submitting a written request for a meeting with the Director of Central Purchasing to explain his/her contention with the bid process. After consulting with the Commissioner of Finance the Chief Administrative Officer and reviewing the documentation and/or hearing the vendor, the Director of Central Purchasing shall promptly respond in writing findings as to the compliance with bid processes. If, based on this review, a bid process irregularity is deemed to have occurred the Director of Central Purchasing will consult with the Commissioner of Finance, the Chief Administrative Officer and the Department of Law as to the appropriate remedy.

Notice of appeal of a bid recommendation must be filed within 3 business days of the bid recommendation by (1) sending a written notice, including sufficient documentation to support appeal, to the Director, Division of Central Purchasing or (2) submitting a written request for a meeting with the Director of Central Purchasing to explain his appeal. After reviewing the documentation and/or hearing the vendor and consulting with the Commissioner of Finance and the Chief Administrative Officer, the Director of Central Purchasing shall in writing, affirm or withdraw the recommendation.

# III. Procurement Contract Bid Conditions

- A. The terms of this agreement shall be for <u>1</u> year(s) from the date of acceptance of this contract by the Lexington-Fayette Urban County Government. This agreement may be automatically extended for an additional <u>1</u> year(s) renewal. This contract may be canceled by either party thirty (30) days after delivery by canceling party of written notice of intent to cancel to the other contracting party.
- B. Price Changes (Space Checked Applies)
- (XXX) 1. Prices quoted in response to the Invitation shall be firm prices for the first 90 days of the Procurement Contract. After 90 days, prices may be subject to revision and such changes shall be based on general industry changes. Revision may be either increases or decreases and may be requested by either party. There will be no more than one (1) price adjustment per quarter. Requests for price changes shall be received in writing at least twenty (20) days prior to the effective date and are subject to written acceptance before becoming effective. Proof of the validity of a request for revision shall be responsibility of the requesting party. The Lexington-Fayette Urban County Government shall receive the benefit of any decline that the seller shall offer his other accounts.
  - () 2. No provision for price change is made herein. Prices are to be firm for the term of this contract.
  - () 3. Procurement Level Contract
- C. If any contract item is not available from the vendor, the Lexington-Fayette Urban County Government, at its option, may permit the item to be back-ordered or may procure the item on the open market.
- D. All invoices must bear reference to the Lexington-Fayette Urban County Government Purchasing document numbers which are being billed.
- F. This contract may be canceled by the Lexington-Fayette Urban County Government if it is determined that the Bidder has failed to perform under the terms of this agreement, such cancellation to be effective upon receipt of written notice of cancellation by the Bidder.
- G. No substitutions for articles specified herein may be made without prior approval of the Division of Central Purchasing.

# **LFUCG Non-Appropriation Clause**

Contractor acknowledges that the LFUCG is a governmental entity, and the contract validity is based upon the availability of public funding under the authority of its statutory mandate.

In the event that public funds are unavailable and not appropriated for the performance of the LFUCG's obligations under this contract, then this contract shall automatically expire without penalty to the LFUCG thirty (30) days after written notice to Contractor of the unavailability and non-appropriation of public funds. It is expressly agreed that the LFUCG shall not activate this non-appropriation provision for its convenience or to circumvent the requirements of this contract, but only as an emergency fiscal measure during a substantial fiscal crisis, which affects generally its governmental operations.

In the event of a change in the LFUCG's statutory authority, mandate and mandated functions, by state and federal legislative or regulatory action, which adversely affects the LFUCG's authority to continue its obligations under this contract, then this contract shall automatically terminate without penalty to the LFUCG upon written notice to Contractor of such limitation or change in the LFUCG's legal authority.

#### **EQUAL OPPORTUNITY AGREEMENT**

#### The Law

- Title VII of the Civil Rights Act of 1964 (amended 1972) states that it is unlawful for an employer to discriminate in employment because of race, color, religion, sex, age (40-70 years) or national origin.
- Executive Order No. 11246 on Nondiscrimination under Federal contract prohibits employment discrimination by contractor and sub-contractor doing business with the Federal Government or recipients of Federal funds. This order was later amended by Executive Order No. 11375 to prohibit discrimination on the basis of sex.
- Section 503 of the Rehabilitation Act of 1973 states:

The Contractor will not discriminate against any employee or applicant for employment because of physical or mental handicap.

- Section 2012 of the Vietnam Era Veterans Readjustment Act of 1973 requires Affirmative Action on behalf of disabled veterans and veterans of the Vietnam Era by contractors having Federal contracts.
- Section 206(A) of Executive Order 12086, Consolidation of Contract Compliance Functions for Equal Employment Opportunity, states:

The Secretary of Labor may investigate the employment practices of any Government contractor or sub-contractor to determine whether or not the contractual provisions specified in Section 202 of this order have been violated.

The Lexington-Fayette Urban County Government practices Equal Opportunity in recruiting, hiring and promoting. It is the Government's Intent to affirmatively provide employment opportunities for those individuals who have previously not been allowed to enter into the mainstream of society. Because of its importance to the local Government, this policy carries the full endorsement of the Mayor, Commissioners, Directors and all supervisory personnel. In following this commitment to Equal Employment Opportunity and because the Government is the benefactor of the Federal funds, it is both against the Urban County Government policy and illegal for the Government to let contracts to companies which knowingly or unknowingly practice discrimination in their employment practices. Violation of the above mentioned ordinances may cause a contract to be canceled and the contractors may be declared ineligible for future consideration.

Please sign this statement in the appropriate space acknowledging that you have read and understand the provisions contained herein. Return this document as part of your application packet.

#### **Bidders**

I/We agree to comply with the Civil Rights Laws listed above that govern employment rights of minorities, women, Vietnam veterans, handicapped and aged persons.

Signature

Cashi

Name of Rusiness

EROBANS Ive

#### **GENERAL PROVISIONS OF BID CONTRACT**

By signing the below, bidder acknowledges that it understands and agrees with the following provisions related to its bid response and the provision of any goods or services to LFUCG upon selection by LFUCG pursuant to the bid request:

- Bidder shall comply with all Federal, State & Local regulations concerning this type of service or good.
- Failure to submit ALL forms and Information regulred by LFUCG may be grounds for disqualification.
- 3. Addenda: All addenda, if any, must be considered by the bidder in making its response, and such addenda shall be made a part of the requirements of the bid contract. Before submitting a bid response, it is incumbent upon bidder to be informed as to whether any addenda have been issued, and the failure of the bidder to cover any such addenda may result in disqualification of that response.
- 4. Bid Reservations: LFUCG reserves the right to reject any or all bid responses, to award in whole or part, and to waive minor immaterial defects in proposals. LFUCG may consider any alternative proposal that meets its basic needs.
- Liability: LFUCG is not responsible for any cost incurred by bidder in the preparation of its response.
- 6. Changes/Alterations: Bidder may change or withdraw a proposal at any time prior to the opening; however, no oral modifications will be allowed. Only letters, or other formal written requests for modifications or corrections of a previously submitted proposal which is addressed in the same manner as the bid response, and received by LFUCG prior to the scheduled closing time for receipt of bids, will be accepted. The bid response when opened, will then be corrected in accordance with such written request(s), provided that the written request is contained in a sealed envelope which is plainly marked "modifications of bid response".
- 7. Clarification of Submittal: LFUCG reserves the right to obtain darification of any point in a bid or to obtain additional information from any bidder.
- 8. Bribery Clause: By his/her signature on its response, bidder certifies that no employee of his/hers, any affiliate or subcontractor, has bribed or attempted to bribe an officer or employee of the LFUCG.
- 9. Additional Information: While not necessary, the bidder may include any product brochures, software documentation, sample reports, or other documentation that may assist LFUCG in better understanding and evaluating the bid response. Additional documentation shall not serve as a substitute for other documentation which is required by the LFUCG to be submitted with the bid response.
- 10. Ambiguity, Conflict or other Errors: If a bidder discovers any ambiguity, conflict, discrepancy, omission or other error in the bid request of LFUCG, it shall immediately notify LFUCG of such error in writing and request modification or clarification of the document if allowable by the LFUCG.
- 11. Agreement to Bid Terms: In submitting its bid response, the bidder agrees that it has carefully examined the specifications and all provisions relating to LFUCG's bid request, including but not limited to the bid contract. By submission of its bid response, bidder states that it understands the meaning, intent and requirements of LFUCG's bid request and agrees to the same. The successful bidder shall warrant that it is familiar with and understands all provisions herein and shall warrant that it can comply with them. No additional compensation to bidder shall be authorized for services, expenses, or goods reasonably covered under these provisions that the bidder omits from its bid response.
- 12. Cancellation: LFUCG may unilaterally terminate the bid contract with the selected bidder(s) at any time, with or without cause, by providing at least thirty (30) days advance written notice unless a different advance written notice period is negotiated prior to contract approval. Payment for services or goods received prior to termination shall be made by the LFUCG provided these goods or services were provided in a manner acceptable to the LFUCG. Payment for those goods and services shall not be unreasonably withheld.

- 13. Assignment of Contract: The selected bidder(s) shall not assign or subcontract any portion of the bid contract with LFUCG without the express written consent of LFUCG. Any purported assignment or subcontract in violation hereof shall be void. It is expressly acknowledged that LFUCG shall never be required or obligated to consent to any request for assignment or subcontract; and further that such refusal to consent can be for any or no reason, fully within the sole discretion of LFUCG.
- 14. No Waiver: No failure or delay by LFUCG in exercising any right, remedy, power or privilege hereunder, nor any single or partial exercise thereof, nor the exercise of any other right, remedy, power or privilege shall operate as a waiver hereof or thereof. No fallure or delay by LFUCG in exercising any right, remedy, power or privilege under or in respect of this bid proposal or bid contract shall affect the rights, remedies, powers or privileges of LFUCG hereunder or shall operate as a waiver thereof.
- 15. Authority to do Business: Each bidder must be authorized to do business under the laws of the Commonwealth of Kentucky and must be in good standing and have full legal capacity to provide the goods or services specified in the bid proposal. Each bidder must have all necessary right and lawful authority to submit the bid response and enter into the bid contract for the full term hereof including any necessary corporate or other action authorizing the bidder to submit the bid response and enter into this bid contract. If requested, the bidder will provide LFUCG with a copy of a corporate resolution authorizing this action and/or a letter from an attorney confirming that the proposer is authorized to do business in the Commonwealth of Kentucky. All bid responses must be signed by a duly authorized officer, agent or employee of the bidder.
- 16. Governing Law: This bid request and bid contract shall be governed by and construed in accordance with the laws of the Commonwealth of Kentucky. In the event of any proceedings regarding this matter, the bidder agrees that the venue shall be the Fayette County Circuit Court or the U.S. District Court for the Eastern District of Kentucky, Lexington Division and that the bidder expressly consents to personal jurisdiction and venue in such Court for the limited and sole purpose of proceedings relating to these matters or any rights or obligations arising thereunder.
- 17. Ability to Meet Obligations: Bidder affirmatively states that there are no actions, suits or proceedings of any kind pending against bidder or, to the knowledge of the bidder, threatened against the bidder before or by any court, governmental body or agency or other tribunal or authority which would, if adversely determined, have a materially adverse effect on the authority or ability of bidder to perform its obligations under this bid response or bid contract, or which question the legality, validity or enforceability hereof or thereof.
- 18. Bidder understands and agrees that its employees, agents, or subcontractors are not employees of LFUCG for any purpose whatsoever. Bidder is an independent contractor at all times related to the bid response or bid contract.
- 19. If any term or provision of this bid contract shall be found to be illegal or unenforceable, the remainder of the contract shall remain in full force and such term or provision shall be deemed stricken.

Signature

12/05/14 Date

V/I VIT	No Rid	NR	No Rid	ea how of 10	=T tilbo 4 0
#N/A	No Bid	NB	No Bid	ea, box of 10	ET tube 3.5
#N/A	No Bid	NB	No Bid	ea, box of 10	ET tube 3.0
#N/A	No Bid	NB	No Bid	each	ron Duck medic bag
#N/A	No Bid	NB	No Bid		dopamine via!
#N/A	No Bid	NB	No Bid	ea, 12 per case	dopamine pre mix
#N/A	No Bid	NB	No Bid	each	diphenhydramine 50mg carpuject
#N/A	No Bid	NB	No Bid	ea, 10 per brick	D50 25G prefilled
#N/A	No Bid	NB	No Bid	each	cyano kit
#N/A	No Bid	NB	No Bid	each	conterra intubation kit
#N/A	No Bid	NB	No Bid	ea, case of 4	combitube41fr
#N/A	No Bid	NB	No Bid	ea, case of 4	combitube 37fr
JACK FROST	JF10104	6 \$10.67 per CS of 24	\$0.4446	case of 24	
#N/A	No Bid	NB	No Bid	ea, 10 per brick	calcium chloride 1G prefilled
#N/A	No Bid	NB	No Bid	ea, case of 24	burn sheet
#N/A	No Bid	NB	No Bid	case of 50	bulb syringe
#N/A	No Bid	NB	No Bid	ea, 50 per case	BP cuff pediatric
#N/A	No Bid	NB	No Bid	ea, 50 per case	BP cuff XL adult
A/N#	No Bid	NB	No Bid	ea, 50 per case	3P cuff L adult
#N/A	No Bid	NB	No Bid	ea, 10 per brick	atropine 1mg prefilled
#N/A	No Bid	NB	No Bid	ea, 25 btls/case	aspirin 81 mg chewable
RUSCH INC	RU849100	0 \$98.1 per BX of 10	\$9.8100	ea, 10 per box	Asherman chest seal
#N/A	No Bid	NB	No Bid	case of 100	armboard Small 1x4
#N/A	No Bid	NB	No Bid	case of 100	armboard Medium 3x9
#N/A	No Bid	NB	No Bid	case of 100	arm board Large 3x18
DYNAREX CORPORATION	DRX1180	5 \$11.88 per BX of 144	\$0.0825	ea,144/bx12bx/cs	antibiotic ointment
DYNAREX CORPORATION	DRX1401	\$0.2110 \$2.11 per BX of 10	\$0.2110	ea, 10 per box	ammonia inhalant
#N/A	No Bid	NB	No Bid	each	amiodarone 150mg prefilled
#N/A	No Bid	NB	No Bid	ea, boxes of 25	albuterol 3ml vial
#N/A	No Bid	NB	No Bid	each	adenosine 12mg
#N/A	No Bid	NB	No Bid	each	adenosine 6mg
#N/A	No Bid	NB	No Bid	each each	activated charcoal
CYPRESS MEDICAL PRODUCTS	CYP42-54	0[\$64.8 per CS of 360	\$0.1800	case of 320	8x10 pads
CYPRESS MEDICAL PRODUCTS	CYP41-06	5 \$19.8 per CS of 48	\$0.4125	case of 46	6" kling
PROADVANTAGE	PAV76200	\$0.0038 \$3.81 per BX of 1000	\$0.0038	case of 1000	6" cotton tipped applicator
CYPRESS MEDICAL PRODUCTS	CYP42-50	0 \$52 per CS of 400	\$0.1300	case of 400	5x9 pads
CYPRESS MEDICAL PRODUCTS	CYP42-44	0 \$36.57 per CS of 600	\$0.0610	case of 600	4x4s
CYPRESS MEDICAL PRODUCTS	CYP41-04	\$0.1533 \$14.72 per CS of 96	\$0.1533	case of 96	4" kling
DYNAREX CORPORATION	DRX3664	\$0.5680 \$28.4 per CS of 50	\$0.5680	case of 50	4" Ace bandage
CYPRESS MEDICAL PRODUCTS	CYP41-02	\$0.0967 \$9.28 per CS of 96	\$0.0967	case of 96	* kling
DYNAREX CORPORATION	DRX3563	0 \$8.16 per BX of 6	\$1.3600	case of 144 rolls	2" cloth tape
#N/A	No Bid	NB	No Bid	each	14ga 3.25 IV cath decompress
BECTON DICKINSON	BD306500	\$0.5600 \$67.2 per CS of 120	\$0.5600	box of 100	10cc pre-filled syringe flush
DYNAREX CORPORATION	DRX3562	\$0.6800[\$8.16 per BX of 12	\$0.6800	case of 144 rolls	" cloth tape
No. of the last	Item No	Case Price	price	) Unit	Itelii

	140 040	Č		000	Transfer of the state of the st
#N/A	No Rid	NB		each	nitrodivcerine sprav
#N/A	No Rid	NB .	No Bid		nitrodivcerine 0.4mg tablets
RUSCH INC	RU1233-32	\$3,0500 \$30.5 per BX of 10	\$3.0500		nasopharyngeal airway 32fr
RUSCHINC	RU1233-30	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 30fr
RUSCHINC	RU1233-26	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 26fr
RUSCH INC	RU1233-22	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 22fr
RUSCH INC	RU1233-20	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 20fr
RUSCH INC	RU1233-16	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 16fr
RUSCH INC	RU1233-12	\$30.5 per BX of 10	\$3.0500	ea, 10 per box	nasopharyngeal airway 12fr
#N/A	No Bid	NB	No Bid	ea. 10 per brick	naloxone 1mg/ml prefilled
AMERICAN DIAGNOSTIC CORP	AMDC732BK	\$96.9400 \$96.94 per EA of 1	\$96.9400	each	multicuff BP kit
GRAHAM MEDICAL PRODUCTS	GM51926	\$176.8 per CS of 10	\$17.6800	ea, 10 per case	mega mover
M/A #N/A	No Bid	NB	No Bid	ea, 12 per case	lidocaine 4mg/ml premix
#N/A	No Bid	NB		ea, 10 per brick	lidocaine 100mg prefilled
#N/A	No Bid	NB	No Bid	cs, 72 box per	lancets 200 per box
#N/A	No Bid	NB	No Bid	each	Iron Duck folding backboard
#N/A	No Bid	NB		box of 25	ipratropium bromide 3ml vial
#N/A	No Bid	NB	No Bid	ea, 20 per box	intubation stylette peds
#N/A	No Bid	NB	No Bid	ea, 20 per box	intubation stylette adult
#N/A	No Bid	NB	No Bid	each	Illinois IO sternal needle kit
DYNAREX CORPORATION	DRX4516	\$11.3 per CS of 24	0.4708	case of 24	hot pack
#N/A	No Bid	NB	No Bid	each	glucagon emergency kit
#N/A	No Bid	NB		ea, box of 10	furosemide 100mg/10ml vial
#N/A	No Bid	NB		ea, 10 per brick	furosemide 100mg prefilled
PROADVANTAGE	PAVP150125	\$4.7 per BX of 50	0.0940	box of 50 24/cs	flexible fabric bandage 2 <sup>N</sup> x4.5"
PROADVANTAGE	PAVP150120	\$29.36 per CS of 1200	\$0.0245	box of 24	flexible fabric bandage 1"x3"
#N/A	No Bid	NB	No Bid		Ferno 65EXL scoop stretcher
#N/A	No Bid	NB	No Bid I	case of 600	eye pads soft 12 pack
#N/A	No Bid	NB	No Bid	box of 10	ET tube 9.0
#N/A	No Bid	NB	No Bid	box of 10	ET tube 8.5
#N/A	No Bid	NB	No Bid	box of 10	ET tube 8.0
#N/A	No Bid	NB	No Bid	box of 10	ET tube 7.5
#N/A	No Bid			box of 10	ET tube 7.0
#N/A	No Bid	NB	No Bid	box of 10	ET tube 6.5
#N/A	No Bid	NB	No Bid [	box of 10	ET tube 6.0
#N/A	No Bid			box of 10	ET tube 5.5
#N/A	No Bid	NB	No Bid	box of 10	ET tube 5.0
#N/A	No Bid	NB	No Bid	box of 10	ET tube 4.5
AMBU INC.	AMB000172002	\$67.23 per CS of 20	3.3615		esophageal intubation detector
#N/A	No Bid	NB	No Bid	ea, 10 per brick	epinephrine 1:10000 prefilled
#N/A	No Bid	NB	No Bid	ea, box of 10	epinephrine 1:10001mg amp
#N/A	No Bid		Bid	ea, box of 10	endotrol ET tube 7.0
#N/A	No Bid	- 1	No Bid	ea, box of 10	endotrol ET tube 6.0
CONMED CORPORATION	CON1870C-004	\$0.1684 \$101.02 per CS of 600	\$0.1684	case of 15 boxes	electrodes
MFR	Item No	Case Price	price	Unit	Item

#N/A	No Bid	NB	No Bid	3	Teleflex green stylet adult
#N/A	No Bid	NB	No Bid	ea. 25 per box	Teleflex green stylet pediatric
#N/A	No Bid	NB	No Bid	ea, 20 per case	Yankauer w/ 6 foot tubing
#N/A	No Bid	NB	No Bid	each	c-collar bag
#N/A	No Bid	NB	No Bid	each	vacuum splint set
#N/A	No Bid	NB	No Bid	ea. 25 per case	Tyvek suit w/ hood & footies
DYNAREX CORPORATION	DRX3672	\$4.34 per BX of 12	\$0.3617	case of 240	triangular bandage
#N/A	No Bid	NB	No Bid	ea, box of 12	trauma shears
DYNAREX CORPORATION	DRX3531	\$1.15 per EA of 1	\$1.1500	case of 50	trauma dressing 10x30
3M	3M1527-1	\$10.91 per BX of 12	\$0.9092	case of 500	transpore tape case of 500
#N/A	No Bid	NB	No Bid	ea, 100 per case	Thomas tube tie velcro peds
#N/A	No Bid	NB	No Bid	ea, 100 per case	Thomas tube tie velcro adult
#N/A	No Bid	NB	No Bid	ea, 10 per brick	thiamine 100mg/ml prefilled
WELCH ALLYN INC	WA05031-110		\$0.0366	cs. 25/bx 40bx/cs	thermometer probe covers
#N/A	No Bid	NB	No Bid	each	tetracaine eye drops
#N/A	No Bid	NB	No Bid	case of 600	test strips (precision extra)
PROADVANTAGE	PAVP903100	\$0.0431 \$6.21 per BX of 144	\$0.0431	cs, 12 box/case	surgi lube or equivalent 144/gox
AMSINO INTERNATIONAL INC	AMCAS362C	\$0.27	\$0.2700	case of 50	suction cath 8fr
AMSINO INTERNATIONAL INC	AMCAS361C	\$0.27 per EA of 1	\$0.2700 \$0.27	case of 50	suction cath 6fr
AMSINO INTERNATIONAL INC	AMCAS367C	\$0.27 per EA of 1	\$0.2700 \$0.27	case of 50	suction cath 18fr
AMSINO INTERNATIONAL INC	AMCAS364C	)[\$0.27 per EA of 1	\$0.2700	case of 50	suction cath 12fr
AMSINO INTERNATIONAL INC	AMCAS363C	\$0.27 per EA of 1	\$0.2700	case of 50	suction cath 10fr
#N/A	No Bid	NB	No Bid	each	spider straps.
#N/A	No Bid	NB	No Bid	each bag	speedblock straps and pads
#N/A	No Bid	NB	No Bid	ea, 10 per case	speedblock starter set
#N/A	No Bid	NB	No Bid	20 bags/case	speedblock side replacements
#N/A	No Bid	NB	No Bid	brick of 10	sodium bicarbonate 8.4% SOmEq
#N/A	No Bid	NB	No Bid	ea, 60 per case	Sam splint
#N/A	No Bid	NB	No Bid	each	Sager traction splint adult
) #N/A	No Bid	NB	No Bid	each	Sager traction splint peds
#N/A	No Bid	NB	No Bid	ea, case of 20	S-Scort JR suction canister
#N/A	No Bid	NB	No Bid	each	S-Scort JR suction unit
#N/A	No Bid	NB	No Bid	each	ring cutter
#N/A	No Bid	NB	No Bid	ea, 4 per pack	ring cracker
#N/A	No Bid	NB	No Bid	ea, 25 per box	promethazine 25mg vial
#N/A	No Bid	NB	No Bid	box of 300	penlight
#N/A	No Bid	NB	No Bid	per box	oral airway 50mm box of 50
#N/A	No Bid	NB	No Bid	per box	oral airway 70mm box of 50
#N/A	No Bid	NB	No Bid	per box	oral airway 90mm box of 50
#N/A	No Bid	NB	No Bid	per box	oral airway 110mm box of 50
#N/A	No Bid	NB	No Bid	3pk, 12 per case	oral glucose tube
#N/A	No Bid	NB	No Bid	ea, 10 per case	OB kits
#N/A	No Bid	NB	No Bid		02 bags
#N/A	No Bid	NB	No Bid	cs, 72 box per	non-adherent pads 3"x4" 100/bx
MFR	Item No	Case Price	price	Unit	lem

ltem	Linit	price	Case Price	Item No	MER
velcro splint set	each	No Bid	NB	No Bid	#N/A
Magill forceps child	each	No Bid	NB	No Bid	#N/A
idocaine 2g/500ml'	each, 18 per case	No Bid	NB	No Bid	#N/A
aryngoscope blade #3 Miller		No Bid	NB	No Bid	#N/A
ancets	box of 100	\$0.0997	\$9.97 per BX of 100	MHC821241	MHC MEDICAL PRODUCTS LLC
carpuject holder	each	No Bid	NB	No Bid	#N/A
thiamine 100mg/2ml vial	each	No Bid	NB	No Bid	#N/A
transpore 1"x 10 yds	box of 12 rolls	0.9092	\$10.91 per BX of 12	3M1527-1	3M
D10 250ml	each/case of 24		NB	No Bid	#N/A
Adenosine 12mg 4ml vial	each	No Bid	NB.	No Bid	#N/A
Precision Extra Glucometer		No Bid	NB.	No Bid	#N/A
aryngoscope bulb small	box of 25	No Bid	NB	No Bid	#N/A
Scoop Straps, 5ft	pair	No Bid	NB	No Bid	#N/A
stretcher 02 bag		No Bid	NB	No Bid	#N/A
BAAM	each	No Bid	NB	No Bid	#N/A
peds board		No Bid	NB	No Bid	#N/A
1000ml lactated ringers	cs, 14 bags per	\$1.8829	\$26.36 per CS of 14	BAX2B2324X	BAXTER HEALTHCARE
10cc saline flush	8bxof 100/case		\$460.74 per CS of 800	KEN8881579121	COVIDIEN
10cc syringe	box of 100	\$0.1042	\$10.42 per BX of 100	PAVP929010	PROADVANTAGE
15 gallon red bidhazard bags	case of 250	No Bid	NB		#N/A
16oz alcohol	case of 12	\$1.1542	\$13.85 per CS of 12	PRGOS0848	CUMBERLAND SWAN
16oz peroxide	case of 12	\$0.4517		PRGOS0937	CUMBERLAND SWAN
18GA safety needle	box of 100	\$0.2249	\$22.49 per BX of 100	TERSG3-1838	TERUMO CORPORATION
1cc syringe without needle	box of 100	\$0.0841	\$8.41 per BX of 100	EXEL26048	EXEL INTERNATIONAL INC
1cc syringe w/25ga needle	box of 100	\$0.0880	\$8.8 per BX of 100	PAVP921258	PROADVANTAGE
250ml D5W	case of 36 bags	\$1.6606	\$1.6606 \$59.78 per CS of 36	BAX2B0062Q	BAXTER HEALTHCARE
3-panel screen w/wheels	each	No Bid	NB	No Bid	#N/A
500ml normal saline	cs, 24 bags per	\$1.6350	\$39.24 per CS of 24	BAX2B1323Q	BAXTER HEALTHCARE
60cc syringe	box of 25	\$0.7483		EXEL26300	EXEL INTERNATIONAL INC
80" manual adjusted ez care bed	each	No Bid	NB	No Bid	#N/A
alcohol prep pads	box, 20 box/case	\$0.0070	\$13.9 per CS of 2000	DRX1113	DYNAREX CORPORATION
alcohol gel hand cleaner	bottle, 24/case	\$0.7400	\$17.76 per CS of 24	PAVP779114	PROADVANTAGE
ambu adujstabie C collar adult	ea, 30/case	\$3.8497	\$115.49 per CS of 30	AMB000281000	AMBU INC.
ambu adjustable C collar peds	ea, 30/case	\$3.8497		AMB000281106	AMBU INC.
BVM Ambu adult	ea, 12/case	\$8.6300	\$8.6300   \$8.63 per EA of 1	AMB520211000	AMBU INC.
BMV Ambu peds	ea, 12/case	\$12.9700	\$12.9700 \$12.97 per EA of 1	AMB530214000	AMBU INC.
digital thermometer welch allyn	each	\$199.5000	\$199.5 per EA of 1	WA01690-200	WELCH ALLYN INC
disinfectant wipes	tub, 160 per tub	\$5.3700	\$5.3700[\$5.37 per TU of 1	PDIQ55172	PROFESSIONAL DISP INC
emesis basin	case of 50	\$0.7104	\$0.7104 \$35.52 per CS of 50	MDGH360-10	MEDEGEN MEDICAL PROTS LLC
disposable gown	case of 50	\$0.4500	\$0.4500 \$22.5 per CS of 50	CYP38-05	CYPRESS MEDICAL PRODUCTS
disposable shoe covers	box of 100	\$0.0556	\$16.67 per CS of 300	CYP35-10	CYPRESS MEDICAL PRODUCTS
EZ cap C02 detector adult	ea, 12/case	\$8.9000		AMB000172712	AMBU INC.
EZ cap C02 detector peds	ea, 12/case	\$8.9000	\$8.9000 \$106.8 per CS of 12	AMB000172713	AMBU INC.
electrodes	bag of 50	\$0.1684	\$0.1684 \$101.02 per CS of 600	CON1870C-004	CONMED CORPORATION

CHANESO MEDICAL TRODUCTS	100-04	ec. 1100 at 10 het co of 1000	60.7100	DOX 01 400	ונסמוווילמפנ
WELCH ALLYN INC	CYB63 34	\$365.86 per C1 of 1000	\$0.0366	case of 1000	thermometer probe covers
OIN	344-201 MC	Sacrate DA OF 100	90.0200	100 IOO	regadellis owi
3M	WINCSTME	\$20 05 per BY of 100	20cc 03	box of 100	tegadorms 3M
COVIDIEN	KEN6640WF		\$0.2284	case of 400	tegaderms
BEMIS MANUFACTURING CO	BEM424410	\$198.24 per CS of 100	\$1.9824	100/case	suction canister 800cc
PROADVANTAGE	PAVP542002	\$3.2300 \$3.23 per EA of 1	\$3.2300	each	stethoscope
CALTECH INDUSTRIES, INC.	CAL49100	\$6.71 per CN of 1	\$6.7100	each	spray disinfectant
COVIDIEN	KEN8900SA	\$166.01 per CS of 100	\$1.6601	ea, 100/case	Sharps container 8900SA
COVIDIEN	KEN8303SA	\$65.8 per CS of 20	\$3.2900	ea, case of 20	Sharps container flip top
#N/A	KEN8301	NB	No Bid	ea, 24 per case	Sharps container shuttle
BECTON DICKINSON	BD305489	\$4.0900 \$49.08 per CS of 12	\$4.0900	each, box of 12	Sharps container Large 305489
HALYARD HEALTH	HYH47147	\$20.93 per BX of 25	\$0.8372	box of 25	paper surgical mask with shield
PROADVANTAGE	PAVP750333	\$15.31 per CS of 50	\$0.3062	box of 50	paper surgical mask
PROADVANTAGE	PAVP921258	\$0.0880 \$8.8 per BX of 100	\$0.0880	case of 50	paper exam gowns regular
GRAHAM MEDICAL PRODUCTS	GM260	\$40.66 per CS of 25	\$1.6264	case of 50	paper exam gowns L
B BRAUN MEDICAL, INC	BBR415108	\$0.9003 \$90.03 per CS of 100	\$0.9003	case of 100	PRN connector needleless
TELEFLEX MEDICAL	HUD1115	\$18.1 per CS of 50	\$0.3620	50/case	02 supply tubing
NONIN MEDICAL INC	NON8500	\$395.48 per EA of 1	\$395.4800	each	Nonin pulse ox
TELEFLEX MEDICAL	HUD1058	\$77 per CS of 50	\$1.5400	case of 50	NRB mask peds
TELEFLEX MEDICAL	HUD1059	\$1.0956 \$54.78 per CS of 50	\$1.0956	case of 50	NRB mask adult
INNOVATIVE HEALTHCARE	IH199100	\$6.49 per BX of 100	\$0.0649	box, 10bx/case	nitrile gloves S
INNOVATIVE HEALTHCARE	IH199200	\$0.0649 \$6.49 per BX of 100	\$0.0649	box, 10bx/case	nitrite gloves M
INNOVATIVE HEALTHCARE	IH199300	\$6.49 per BX of 100	\$0.0649	box, 10bx/case	nitrile gloves L
INNOVATIVE HEALTHCARE	JH199350	\$0.0649 \$6.49 per BX of 100	\$0.0649	box, 10bx/case	nitrite gloves XL
TELEFLEX MEDICAL	HUD1705	\$60.17 per CS of 50	\$1.2034	case of 50	nebulizer mask with tubing
TELEFLEX MEDICAL	HUD1101		\$1,4432	case of 50	nasal cannula peds
TELEFLEX MEDICAL	HUD1103	§23.36 per CS of 50	\$0.4672	case of 50	nasal cannula adult
#N/A	No Bid	NB	No Bid	box of 20	N95 mask with port
BAXTER HEALTHCARE	BAXEMS3160		\$2.0867	case, 48 per	mini drop IV set
BAXTER HEALTHCARE	BAXEMS3110		\$1.9154	case, 48 per	maxi drop IV set
INNOVATIVE HEALTHCARE	IH78-200		\$0.0600	case of 300	isolation masks yellow
BAXTER HEALTHCARE	BAX2F7124		\$2.1625	cs, 12btl/case	irrigation saline 1000ml bottle
B BRAUN MEDICAL, INC	BBR4252500-02		\$1.5536	box, 4 box/case	introcan 24ga IV cath
B BRAUN MEDICAL, INC	BBR4252519-02	\$77.68 per BX of 50	\$1.5536	box, 4 box/case	introcan 22ga IV cath
B BRAUN MEDICAL, INC	BBR4252535-02		\$1.5536		introcan 20ga IV cath
B BRAUN MEDICAL, INC	BBR4252560-02		\$1.5536	box, 4 box/case	introcan 18ga IV cath
B BRAUN MEDICAL, INC	BBR4252586-02	\$77.68 per BX of 50	\$1.5536	box, 4 box/case	introcan 16ga IV cath
B BRAUN MEDICAL, INC	BBR4251890-02		\$1.5542	box, 4 box/case	introcan 14ga IV cath
AMSINO INTERNATIONAL INC	AMCAE3108	\$140.37 per CS of 100	\$1.4037	cs, 100/case	extension set needleless
#N/A	No Bid	NB	No Bid	case of 25	employee protective gown LG
CYPRESS MEDICAL PRODUCTS	CYP38-05	\$22.5 per CS of 50	\$0.4500	case of 50	employee protective gown reg
MEDEGEN MEDICAL PRDTS LLC	MDG3933	\$98.24 per CS of 100	\$0.9824	case of 100	emesis bags
#N/A	No Bid	NB	No Bid	each	emergency cart w/locks
MEDEGEN MEDICAL PRDTS LLC	MDGH360-10	\$35.52 per CS of 50	\$0.7104	case of 250	emergency basins
MFR	Item No	Case Price	price	Unit	Item

Item	] Unit	price	Case Price	Item No	MFR
Welch Allyn thermometer	each	\$199.5000	\$199.5000 \$199.5 per EA of 1	WA01690-200	WELCH ALLYN INC
Zoll M series monitor paper	case of 20	\$2.2900	\$2.2900   \$45.8 per CS of 20	GC7G32015945	GRAPHIC CONTROLS
Zoll M series adult pads	ea, 10/case	\$13.1000	\$13.1000 \$262 per CS of 20	CON3111-1721	CONMED CORPORATION
Zoll M series peds pads	ea, 10/case	\$13.5000	\$13.5000 \$270 per CS of 20	CON3111-1720	CONMED CORPORATION
face shield with eyeguard 25/box	box	\$0.8372	\$0.8372 \$20.93 per BX of 25	HYH47147	HALYARD HEALTH
lancets 21 ga 2.4mm	box of 100	\$0.0997	\$0.0997 \$9.97 per BX of 100	MHC821241	MHC MEDICAL PRODUCTS LLC
10cc flushes	8 bx of 100/case	\$0.5759	\$0.5759\\$460.74 per CS of 800	KEN8881579121	COVIDIEN
10cc flushes Braun	case of 1200	\$0.4191	\$0.4191  \$502.89 per CS of 1200	<b>d</b> ввR513576	B BRAUN MEDICAL, INC
stethoscope	each	\$3.2300	\$3.2300 \$3.23 per EA of 1	PAVP542002	PROADVANTAGE
Dukal tegaderm	[box of 100	\$0.2900	\$0.2900 \$29 per BX of 100	DUK4067	DUKAL CORPORATION
Kendall tegaderm		\$0.2284	\$0.2284 \$91.36 per CS of 400	KEN6640WF	COVIDIEN
Adenosine 6mg vials	box of 10	No Bid	NB	No Bid	#N/A
Terumo 3cc syringe with needle	box of 100	\$0.0878	\$0.0878 \$8.78 per BX of 100	EXEL26108	EXEL INTERNATIONAL INC
02 wrench metal	Jeach	\$1.5700	\$1.5700 \$1.57 per EA of 1	WEMCW-2B	WESTERN
Zoll M Series carry handle	each	\$91.3600	\$91.3600   \$91.36 per EA of 1	ZOLL7777-0035-01	ZOLL7777-0035-01 ZOLL MEDICAL CORP
Zoll Capnostat airway adapter	box of 10	\$8.9840	\$8.9840   \$89.84 per BX of 10	ZOLL8000-0260-01	ZOLL8000-0260-01 ZOLL MEDICAL CORP
Zoll Sp02 sensor	each	\$271.2800	\$271.2800 \$271.28 per EA of 1	ZOLL8000-0294	ZOLL MEDICAL CORP
Zoll Sp02 cable	each	\$147.1300	\$147.1300 \$147.13 per EA of 1	ZOLL8000-0298	ZOLL MEDICAL CORP
Zoll BP cuff regular adult	each	\$36.0800	\$36.0800 \$36.08 per EA of 1	ZOLL8000-1651	ZOLL MEDICAL CORP
Zoll 8P cuff large adult	each	\$39.2300	\$39.2300 \$39.23 per EA of 1	ZOLL8000-1653	ZOLL MEDICAL CORP
Zoll AED Pro pedi-padz	each	\$88.2200	\$88.2200 \$88.22 per EA of 1	ZOLL8900-0810-01	ZOLL8900-0810-01 ZOLL MEDICAL CORP